

Thyristor Current Calculations
דוגמא לחישוב זרם בגופי חימום עבור גוף חימום התנגדותי – פאזה אחת וגם עבור תלת פאזי
The formula below provides a simple way to calculate the thyristor current (IT) for various resistive loads. The calculated value of IT should then be multiplied by 1.2 to allow for variations in supply voltage and manufacturing tolerances of the load.
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Erample A 3K load across 230 Euample: A0 K/ loadacoss 15V, 3phase. || Bample A 100 KW load with 41513

Vol 1= 300013 A Supply IT=60000-53 3 phase supply IT = 100000-50 A

Appling sty fctor cument Applying safety factor cuent = Appling sty factr cument =80

134122 16AAT6A 25010k 83X122100 AR 100 A.15 vt thiee 12296 AR T00A 415 vl hvee

hystor ni can be used phase thyristor can be sed. phase thyitor can be sed.

HINf olage = 415 vols st muliply
the umber of k¥ by 14109e41.£.In
above crample T =601c1.4=64 A or

muliply by 17 o nclude 3 200 saety
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